Jubodootdboodboogd

Joodoobuooooobooood
151120140 000000 ogooood

o280 20 160



[]
U
ggbobobooogbon

gogoobobooogoon

o0

ooo JJa+2)

k=0
0000000000000
51 000000000 .. ..o,
52 0000000 ... oo oo
53 000000 .. oo oot

gogbbooboogogd

10

12
12
13
14

16



1 0O

00000000 1000000000000 0ooooooooooooooo
gbbodbboooboobbuodobbobuooooboboobbodobbooboo
gogbobuoooobbobuoooobobod

e 0000, (14an(2)) =3>,C,z"00000000-00000000000
0000000 ¢, 000000000000

e OUOOODLDDOOUOOODLOLDDLDUOOODLDODOOD

gogobbobbodooooobbb z.0bbbbbdooooobbbbuooooono
gogbooodg

0 2

. z
Sin z = ZH(l — W)
n=1

gdbObOsmz00000000000000000

e 1
H(1+z2k)=1_Z=1+z—|—z2+z3+--- (2| < 1)
k=0

gbbodgobbodobuoobobuodobboobooboboobobooboobbboo
gbbogbogoboobobdoobbogboobobuoooboboobboooboo
03,p920000000000000000DOOO0OODOOODOODODODOOOODODODO
gbobbooobboodbuobz0o0bbuoobbuoobobooobbuooobbao
gboobgoobobbobobobooboobon

00 1.1 (A).

o0

1
[T+ +22%) = :

—z
k=0

=l+z+22+22+- (|2 < 1)

00 1.2 (B).

H(1—22k) =1—z—22 427
k=0
4 Z1+22 + Z2+22 . 21+2+22 et (_l)d(n)zn 4o



dln):nO000000O0O00O0ODODOODOOO

o0

H(l + 23'“ B 22'3k) =142 — 22 + 3 + S48 243
k=0
. Z2~3 . Z1+2~3 + Z?+2-3 4t (_1>e(n)zn N

e(n):n0000000D00CDOOOO0O0O0O

gobooboboooobboboooobobbooon

gbboooobuogbbooboobobuoobboobbboobboooooboo
goboobbooboooboobbooboboboboobboobbooboo
ggbobogbboobobbbbodoooobbbouoooobo

"4 " Far+ag =0, (a; € Q).

00000000000000v2,s00000007,e,log2,sinv/2,cos3000000
00000000000000000000

F(2)" 4+ an1(2)F(2)" 7 + an o(2)F(2)" 24+ +ap(z) =0, (a;(2) € C(2))

000000 F(Ooooouooooooooooooooooo
gbgoboobobboboobooboob

00 1.3 (000). 000

o0

F(z) = [T +2* - 2%

k=0

ggboooboga.

gboobgobooboobo

F(z)=(1+z— 231+ 2% =223 (1 + 2% = 22%)...
=(1+42z—22)F(%)

000 Mahler OO0 O0OOOOOO0OOF(2)0Q(z) 0000000000 ODODODOODO

000000000000 [6,p.102)0000000000000O0O0ODOOODO
gbogobodbogbbooobouogboobobooboobboobuoobooo

ggbbbuoooobbobouoooobbboooobbboooon



00 1.1.a (0<|o/<1)0000000000

o0

F(z):H(1+23k—z2'3k)
k=0
0000 Fla)0DODOD0O0DO
gogoo

k
flz)=TJa-2%)
k=0
godnd f(a)DDDDDDDDDDDD [6,p.103,DD 4.4]DDDDDDDDDDDD
googooodooog

ug 1.2.

[e.9]

[T+ 2"+ 22 4 2D =
k=0

1—=2
oo0Oooooon

o0

JI+ 2"+ 22 4 = 2Dy
k=0

gogoobooon

2 UJOooooooooood

gbboguooboobobooboobuoobobooobbooobobobobbod
ggbobooooooo

00 21 (000). 0000 {anhen 000 o, 0 00000000 COOOODODDOO
ggbbobooogbbbooadd

o0 m
p= Han = lim Han
m—0o0
n=1 n=1

gobbobuogdgpbbbboogbbboogood

ggbbobuoooobbobuoooobbobuooooboboboooon



00 2.1 (0000000). 0000 {aptwey 000 @, 0 0000000

[e.e]
Z la,| < oo
n=1

ERERE

[e.9]

H(l + ay,)

n=1
O00000'00000000000000000000O0
[00)]. Y, 00000000000000R>00000 |a,)<i00000000

000000 Ja,|<i000000000000000b,=log(l+a,)0000000
O000By=Y" b 00000

N

N
H(l +a,) = H elos(itan) — By
n=1

n=1

0000lg(l+2) 000000000000 |2|/<:i000

—1 =2,

[log(1 + 2)| < 2z[,  [ba] < 2an].

oo0B:=> 200000000000 Byv— BN —0c0)0000BOOOOOO
00000000000000000 By 5eP(N—-oo)DO0O0D0O0O00O0DOO0DOODO
Oef000ooo [l

gobbobuoooobbbooogobobod

00210 @, 01+, 0000000



021 @0000000000).[[2,(1-¢)0000 |¢<1000

o0

Z | o qk| _ |Q| < 00
p 1 —1q|

0000000 [[o,1-¢H000000000000000T[2,(1-¢"DO

(- ¢ = (- )1 = g®)(1—g*)(1—g")---

:1_q_q2+q5+q7_q12_q15+q22+_._
> n(3n—1) n(3n+1)

=1+) (-D)"¢ = +q )

n=1

3n —1
DDDDDDDDDDDD[&p%ﬂDDDDDDDDDDDDZﬁE—J

gogg

goodg

gbbbogobuogbbooboobobuoobbooboboobbooboboo
goooo

00 2.2 (D0000O0).{F}0000 QcCOO0ODOOO0DO0DODDOOOOOOODO
C,>0000000

o]
2}%<m
n=1

0000000 zeQQUOOOO
[Fa(z) = 1] < C,

0000000000 (1)(2)000000
(1) 0 [, F.()00Q0000000000 F(:)00000000
(2) Fu(2) #0("n>1)000

T

F'(z)  ~Fi2)
F(z) -2 (2)

=

n=1

gooo



[00]. (1) Fo2) =1+, 00000000 Ja,(2)] <€, 000000 000000
2100000000¢C,000000-0000000000000000000000
000000000000000000(1,p520052000000000000
(2)000000000000000000

00 2.3 ((p5300 5.3). {f,}2,000000000000000 {f}>,000Q0
00000000000000 /00000000

00 2.1 ([1p.89). 0O f(z)#400000

(I fo) i Ji
T,

0000000000000 0OKO QUbobooboogo

N
Gn(z) =[] Fu(z) (z€K)
n=1
0000100 Gy(2)0 Q0000 F(2)0000000000 2300 {G\}0FO0K
O0000000GND KOOOO 3 >000000|Gy(2)|>6>0000000K0
aoo g—]ﬁ—ﬂ%DDDDDDDKD QUiO0D00000000000O0OoOoQOoooo
gdododoooooooooooooooo 21000

Gy ~F,
%_;E
g0 doooooooooggd ]

3 Uoouoodoogn

gogbbobooogoobbbuoooobbobbuogibbsmzU00gonboboogo
gboogoooogd

00 3.1 (000000000000). 0000 sinz0000O
2

e [l 2)

n=1

gogbood



gobbobuogoobbbooodobobooooboboooon

1.2"—-10000000000 I3, p.3§]

2m—1 .

g
2. 2 t(2mt) = tan(t+>—) 00000 |4, p.693
m cot(2mt) jEO an( —|—2m) [4, p ]

gbgobgobobbobooboobuooboobon

. 0b0bugaobobodao

[e.9]

1 . 1 1 = 2z
T eot(mz) = Z Z+n_1&£nmz z+n_;+zz2—

_ n2
n=-—oo In|<N n=1

O0D0O0O0[L, p144 000000000 ——— exp(i(r —2)a) 00000000
sin(ma)
gogooooooobood

O0OO0cos;000000000O0O0OO0DOOOOODOOODOO

00 3.2 (0000000O0DO0OOD). 000 000000000000

o3 () (5 = TTos( )
> = COS 9 COS 1 COS 3 —kZICOS ok

gogno

[00]. sinz0000000

sinz = 2 sin(%) cos(%)
=2 ZSin(Z) cos(i) cos(%)
=2-2- QSin<§> cos(%) cos(i) cos(%)

Lz 2 z z
= 2" sm(—) cos(—) cos(—) . 'cos(—>
n 2 4 n
<z> (z) < z ) sin 2
cos(=)cos(=]) ---cos[—) = ——F——
2 4 2n 2n Sin<2in>



DDDtZQ%DDDn—M)oDDDDt%ODDDDDDDDDDDD z000o0oao

0 .
H < y4 ) Sin 2
cos| — ) =
2k z
k=1

UbdbD0O0OUOcoszOODOUOOOODODDODOOOOLDOOUOOOOODO

(0. 9]

4 ooo o+
k=0
gooooooooo

[e.e]

H(l +a,(2)) = Z C,z"

n=1

00000000-000000000000000000¢,00000000000
00000000
O000a,(z)=22"000000000000

00 4.1. |2/<10000

(1+ 20+ + ) =[]0+ %) =

=1+z2+2"+ -

gogbooodg

[DD]. goododooooooooo
(1—2)(1+2)1+22) 1+ 21 +28)--- (1422
=(1-22)1+2)A+2H1 42 (1 +2%)
=(1-2H1+M1+2%- (142

2n+1

=1—-=z
|2l <1000000 |n|] 000000

[e.9] o0

a-o[a+= =1 - JJa+:*)=—

1—=z2
k=0 k=0

10



gbbgobuogbbogooobbbuoobbooboobbogbooonooboo
ggboobobooodgn

00 41.0000000000000: J[0+-*)00000000000
k=0

[e.9]

H(l +2) =14 24 22 2T T Y Y Y
k=0

gdbdz0b0boooobboboooobboboooobo

nooJJa++ooooooooo
k=0
H(l—i—zgk):1+z+z3+21+3+z9+~-
k=0
0000:00000000000000000000000000000000000
00000000000

H(l + 53" + 22-3’“) 4o 23 I 248 28 1423 2423
k=0

gobbogobooogbbboogbbuoobooobbobobbuooob 410b00b000
ggbobobooogbobobodo

(e 9]

H(1+z3k+z2'3k):1+z+z2+~-:
k=0
gooooo4100000000oo0oo

gooobogbogbobooboobobooboboboboobobbobuoobo
ud 4.2. 0ggdgbboboodgobbbooodobbn

L [[a+)oJJa-2*)0ooooo -
k=0 k=0

gobobooobbbooobbooobbbooobbooobobboooboo
gogbbobuoogobbodo

1
1—2z

o0
H(1—22k) —1—z—224 1227
k=0
g2 2 e (—1)4mn 4.

0000dn)0n0000000000O0OOOOOOOOOO

11



2. [Ja+2 +22" o JJa+-*" -**)0ooooo -
k=0 k=0

god,boouoddddooooooooooooobbboboobbbboon
gobbodgad.

o
H(l + 23’“ o 22-3’“) — 1 pp— 2B I3 23 23 1423
k=0

N ST (_1)6(702” 4o

O000e(n) D n0000D00O0O0OO0OOOOODODODOOOO

5 HUUuutbotdbotdbood

gbbooboobudobbobbooboobbboobuooboboobuoobb.obo
gobboobooood

5.1 DUOOOOOOOO

00 5.1 (00000000).000000000000000000000O00O0O0O0O0O
gboobguogbuooobooboobgoobuoobg.

"+ a, 7"+t aw+ag =0, (a; €Q).
goouoobobbbboboooooouoooooo
gobbboogoboood
F(2)" 4+ an1(2)F(2)" " + ano(2)F(2)" >+ +ap(2) =0, (a;(2) € C(2))

000000 F(-)O0OOOOooooooC(x:)0b00000000000000 COO
O000000000C(:)0000Q(>:)0000000QULOUUDODOOODOOOOD
ggbbobuooobbboooobbbuooono

g s5.1. 00000000000

e 000D
3
VZ—2
Vel =2

2241
e 10O

e’, sinz, cosz, logz.

12



5.2 UL

gogbbbugoobbbuooobobbbuooobbogao
goooobboooobobobuoooobbogag

g 5.1. 000

o0

f2)=JJa ==

k=0
0000000000 f(:)00000a (0<|o/<1)0000000000 f(e)00
00000000 f(-)0QO00000000000

Ooo00 [6,p.10300 44000000000
000000 p|000005100000000000000O0O0ODOODOODODOO
goooooooboon

00 5.2 ((00000000O0DOO). 000

o0

F(z) =]+ —2%) (0)

k=0

gogooobooon

gd 1. 000gobobobooo 4200000000

—14+z4+224...

1—=z2

1
DDDDDDDDDDDDDDDDDDDDDDDDDDD1 gbobogoboogn
z

gbobobogbbodbooobuoobbooboooboobboobooboboo
gogoobobooodon

5.3 UUooon

O0s520000000000000000 MahleeOOOOODOODOOO

F(2)=0+z—-2)0+ 22— 2231+ po - 22‘32) ..
=(1+2z—2)F(%)

13



0D00000000000000 F(z) =[[2,0+2" -22) 000000 F(z)0 2°
00000000000000000000000
00000000000F(z)0Q(:)0000000000000000000000
00000000

0D00000000F(:)000000000000000 ag(z),a1(2),-++,an1(z) O
00000 (1)00000

F(2)" 4+ an1(2)F(2)" ' + ano(2)F(2)" 24+ -+ +ag(z) =0 (1)

00000000000 -00000000000
()0 20 000000000 F(z)=(142-22)F() 00000

( F(z) )“'+_an_1(23)< F(z) >"—1

14+2—22 142 — 22
F(2)

n—2
Taom) el -o

+—an_2(z3)<
000 (14+z2-22"00000

F(2)" 4+ an_1 ()1 + 2 — 2 F(2)" 7 + apo(2®) (1 + 2 — 2%)2F(2)" 2
o dao(z) (142 - 27" =0 (2)

0000000 »-0000000()(2)UUOODODODOCOOODOOODODOODDOODOO
A (2) = A (22) (1 4+ 2 = 22)"™ (n—m>1) (3)

000000000 an(z) €Q(z)00

(2) = % (p(2),q(2) € Qlz],  (p(2),q(2)) =1:0000)

00000000 3)booooo

gobooboogad



0000 (p(2),q(2) =100 (p(2*),q(2)?)=10000000p(z*0 p(z) 000000
00000000000 p(z)000O00000O0O0

0(2°) = q(z)(1 + 2 — )" (4)

gobooodg
+V5 1 )
O001+2-22=000 2z = QIDDDDDDDDa: V5

z=a000000a01+2z-22=0000000

0000(4)0

g(a®) = q(a)0" ™™ =0
0000000 4)0 2=0*000000 ¢(e®) =000
(o)) = q(@®)(1 + a® — a®?)" ™™ = 0
000000000000000
g@®)=0 (k=0,1,2,--)

00000000« >1000000{c*k=0,1,2,---}00000000000000
¢(z)000000000000000¢(:)00000000000000000
000000000 F(:)000000000

6 UUoouoogn

gobboboooobbobuoooobboood

1.ggboood

[e.9]

H(1+z = izk

k=0 0
oo

H(1+z3 —|—z23k izk

k=0 k=0

k=
1

gbogboboobboobogbuodgbbdudzboobooboobooboo
gobobooodgboo

15



2.000000

o0

1
H(l — 2 = .
o +z

gobbuooobbuogobbooobbooobnbboobobbuoogboo
gboobgooobgn

. 0gbuooboobobobobbooboon

oo

IR

H(1+23k—22'3k)

k=0
gbboobobooobboobuooboobbooboobbuodoboobezOn
gbogbbodboobabodboaobaobuoobdobogboaobodaogond
gboogogd

gbbogbobodbogbboboobuooboobboobuoobobobobuooboo
ggbbobuoogobbboogobbbooooboobobooogon

00 6.1.a (0<|o/<1)0000000000

e 9]

F(z)= H(l + 23— 23

k=0
0:=a000000000 Fle)OOOOOOOOO

g 6.2. 000

[e.e]

H(l 4 g 2 Dy
k=0

gboogboogo

o0

[T+ + 224 4 D
k=0
000000000
000D0000000000000000000000000

gbbobggbuoogbobuoboobuoobbuoobbooboooboooboo
gbobobogobogoboogoouoboobboobbogbooobbooboobooo
gobooo

16



HREENEN

1] EM.OO0O0OOR.OO0OD0OO(000O0O0DO) 00000000 OOODO?20090
2] EM.OO0O0OOR.ODO0OOO(OOOO0OO0)OODOOOOOOOO0OOOOOO20070
3] 0000000000000 Ooooooo20070

[4] Oscar Ciaurri, Euler’s Product Expansion for the Sine: An Elementary Proof, Math-
ematical Association of America, 2015.

p) 000000000 DODO0O0O0OOOOODO?20120

6) 0000000000000 O0O0O0O0OO0O020150

17



